PC Review Name: Kf/l‘f
Chapter 7 Hour:

Solve each system of equations. Be sure to write your answers as ordered pairs. Even if it has infinite
solutions must express them in ordered pair form.
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4. A certain brand of razor blades comes in packages of 6, 12, and 24 blades, costing $2, $3, and $4 per
package, respectively. A store sold 12 packages containing a total of azor blades and took in $35.
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6. Graph the feasible region.
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8. A manufacturer makes two types of jet skis, regular and deluxe. The profit on a regular jet ski is $200
and profit on the deluxe model is $250. To meet customer demand, the company must manufacture at
least 50 regular jet skis per week and at least 75 deluxe models. To maintain high quality, the total
number of both models of jet skis manufactured by the company should not exceed 150 per week. How
many jet skis of each type should be manufactured per week to obtain maximum profit? What is the

maximum weekly profit? Be sure to show ALL work and equations/ ine‘qualifies. Z = 200 + 2650 /

- o o X = O f
> ! 50 VIO
. gh .
' B .50\“;}“3 ' : X Z50
?\v'_) 260 :
» A N '; SRR R U A i Yz s
A R R A AT R N L i P
S . ) (5ops)> 220050 250(70)
g il Cso;:s) o ! Z=0 7-’1?‘750
e i? (50,160 = Z =200(50)k 250( 109
- | Z +H A5 000
NS _ P by v s bbb g
. 50 e e .

(15,75) > 2 2200753+ 250 (15)
reg el sk Z=% 33750 |
Mo weekly profid 17 35000

§75 |

L‘*‘L\ft_t’\ was 50 rﬁ&ukm 3 :
delvxe jed skig, |



